- You should hand me the answers to Week 12 right at the beginning of next Monday’s lecture (May 16).
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 12 in bold at the beginning of your answers.

L21: Kalecki’s short-term model of output with fixed costs

1. “The marginal productivity curve of the production line workers is downward sloping”. Do you agree? Explain.

2. a) Draw the Kaleckian aggregate supply curve with L in the horizontal axis.

b) What is the slope of this curve? Explain.

c) In the same graph draw the curve relating the production line workers’ aggregate wages with the level of employment.

d) What is the slope of this curve? Explain.

e) What does the difference between the slopes of these two curves mean?

f) “The difference between the slopes of the two curves measures the exploitation of workers by capitalists.” Do you agree? Explain.
3. What are the several aspects that explain the size of the mark-up in the Kaleckian model with fixed costs? Explain.

4. Explain the different types of fixed costs.
5. a) In a new graph, draw the distribution of income between variable wages, fixed incomes and profits at two different levels of output.

b) How does the distribution of income changes between those two levels of output? Explain.

c) “Changes in the distribution of income along an economic expansion tend to reduce the aggregate marginal propensity to consume”. Do you agree? Explain.
6.“With technological progress, if output remains constant from one year to the next, employment will fall.” Do you agree? Explain.

7. What is the slope of the marginal productivity of labour curve? Explain, using the example of a real-world business.

8. What does the Okun’s law say?

9. How does the Kaleckian model explain Okun’s law?

10. Assume an hourly wage rate of 2€, an hourly productivity of a production line worker of 4€ and a marginal propensity to consume out of profits equal to 0.3.

a) When firms employ one thousand extra production line workers:

i) by how much does the value of the goods and services for sale rise? Explain.

ii) and by how much does the demand for those same goods and services rise? Explain.

iii) what is the cause of that discrepancy? Explain.

b) As a result of that discrepancy, what happens when employment rises above a certain level? Explain.

c) How do businesses react to that fact?

d) What is the consequence of that reaction?

e) How do firms react to that consequence?

f) Illustrate the answers a) – e) using a graph.

g) The firing of workers by firms with excess output causes a negative externalty on other firms. Why? Start by explaining the meaning of a negative externalty.

11.  Suppose that, at the point when aggregate supply equals aggregate demand, output is below both full-employment and full-capacity. If both prices and nominal wages fall:

a) What happens to real wages and unemployment if prices fall by less than nominal wages? Explain
b) What happens to real wages and unemployment if prices fall by more than nominal wages? Explain

L22: Kalecki’s paradox of profits + Quantitative Easing

12. Consider a closed economy without government.

a) From the structural form of the Kaleckian model, write the equation that shows that “capitalists earn what they spend”.

b) Explain the two opposite effects of an increase in the mark-up on total profits in such an economy.

c) “Those two effects exactly offset each other”. Do you agree? Explain.

13. “For the Kaleckian paradox of profits to hold absolutely in a closed economy without government, the marginal propensity to consume out of current profits must be zero.” Do you agree? Explain.

14. Consider now an open economy with government.

 a) From the structural form of the Kaleckian model, write the equation that shows how profits are determined.

b) “A government deficit of $10b (compared with a balanced government budget) translates into extra profits of exactly $10b” Do you agree? Explain. 

c) “A trade surplus of $10b (compared with a balanced trade account) translates into extra profits of exactly $10b” Do you agree? Explain. 

d) Explain the four effects of an increase in the mark-up on total profits in such an economy.

d) What is the net sum of those effects on profits? Explain.

15. In an open economy with government, an increase in the unit profit margin still implies a decline in the number of units sold by firms.

a)Why?

b) But the second effect does not fully offset the first one. Why?

Chapter 6: Quantitative Easing

16. Suppose that there are only 1-year and 2-year bonds (B1 and B2, respectively), and that the CB sets the interest rate on the first type of bonds: 2% for the current year and 4% (expected) next year.

a) If i2 happens to be equal to 4% in a certain day, which mechanisms will occur that will change i2?

b) Which will be the final value of i2? Explain.

c) What will happen to i1? Explain.
